As mentioned last week, the second step is to compute the canonical form of the maximum of two RVs. In order to compute the canonical form, we should estimate the moment of the maximum. Let:
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Where N is the number of variation sources, Ra and Rb are the random terms. Let C=max(A, B). We use Fourier series to approximate the joint PDF of A and B, and estimate the first three moments of C. The following table shows the comparison between the estimation result and the result from MC simulation. In the table, we assume each variation source is a normal RV. We find that as the order of Fourier series increases, the estimation accuracy increases. However, when the order reaches 4, the estimation is accurate enough. 
	　
	mean
	variance
	3rd moment

	MC simulation
	3.47
	15.32
	37.78

	2nd order
	value
	2.87
	12.23
	32.5

	
	error %
	17.29106628
	20.16971279
	13.97564849

	3rd order
	value
	3.21
	14.23
	35.2

	
	error %
	7.492795389
	7.114882507
	6.829010058

	4th order
	value
	3.44
	15.11
	36.89

	
	error %
	0.864553314
	1.37075718
	2.35574378

	5th order
	value
	3.45
	15.21
	37.11

	
	error %
	0.576368876
	0.718015666
	1.773425093
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